
1. Maximum Permissible Exposure 
1.1 Limits  
The criteria listed in the following table shall be used to evaluate the environment impact of human exposure 
to radio frequency (RF) radiation as specified in 1.1307(b)  
 
Limits for Maximum Permissible Exposure (MPE) 

Frequency range 
(MHz) 

Electric field strength 
(V/m) 

Magnetic field strength 
(A/m) 

Power density 
(mW/cm2) 

Averaging time
(minutes) 

(A) Limits for Occupational/Controlled Exposures 
0.3–3.0 614 1.63 *(100) 6 
3.0–30 1842/f 4.89/f *(900/f2) 6 
30–300 61.4 0.163 1.0 6 

300–1500   f/300 6 
1500–100,000   5 6 

(B) Limits for General Population/Uncontrolled Exposure 
0.3–1.34 614 1.63 *(100) 30 
1.34–30 824/f 2.19/f *(180/f2) 30 
30–300 27.5 0.073 0.2 30 

300–1500   f/1500 30 
1500–100,000   1.0 30 

f = frequency in MHz 
 
MPE Calculation Method 

,   
E ＝ Electric field (V/m) 
P ＝ Peak RF output power (W) 
G ＝ EUT Antenna numeric gain (numeric) 
d ＝ Separation distance between radiator and human body (m) 
The formula can be changed to 

 
From the peak EUT RF output power, the minimum mobile separation distance, d=0.2m, as well as the gain 
of the used antenna, the RF power density can be obtained. 



 
1.2. Test Procedure 
Software provided by client enabled the EUT to transmit and receive data at lowest, middle 
and highest channel individually. 

1.3. Test Result  

Mode Channel 
Output power to 

antenna (mW) 

Power Density at R=20cm 

(mW/cm2) 
Limit (mW/cm2) Result 

Lowest 113.5010816 0.035787316  1.0 PASS 

Middle 168.6553025 0.053177649  1.0 PASS 802.11b 

Highest 102.0939484 0.032190604  1.0 PASS 

Lowest 111.1731727 0.035053318  1.0 PASS 

Middle 137.7209469 0.043423930  1.0 PASS 802.11g 

Highest 112.4604974 0.035459216  1.0 PASS 

Lowest 75.6832895 0.023863225  1.0 PASS 

Middle 70.9577768 0.022373253  1.0 PASS 802.11n-H20 

Highest 69.18309709 0.021813690  1.0 PASS 

Lowest 43.15190768 0.013605958  1.0 PASS 

Middle 44.66835922 0.014084101  1.0 PASS 802.11n-H40 

Highest 45.39416167 0.014312949  1.0 PASS 

Remark: antenna gain=2.0dBi 

 
 
 


